112 SRS — B IERR T B sk HU A B

Am I B R BEHR | FHR | VIR
1 A-BERMEL 5K (B ) —%F | 13
2 A-BERMEL 5K (B ) —%F | 13
3 A-BERMEL 5K (B ) —%F | 21
4 A-BERMEL 5K (B ) “F | 24
5 A-BERMEL 5K (B ) “F | 24
6 A-BERMEL 5K (B ) —F | 34
7 A-BERMEL 5K (B ) = 2 3t
8 A-BERMEL 5K (B ) = 2 3t
9 A-BERMEL 5K (B ) e | 13t
10 A-BERMEL 5K (B ) e | 13t




112 SRS — B IERR T B sk HU A B

A1 LE=E TR HEAR
1 1-E2BKFL(A 3T) —F 131
2 1-E2BKFL(A 3T) _F 131
3 1-E2BKFL(A 3T) = 131
4 1-E2BKFL(A 3T) he 131
5 1-E2BKFL(A 3T) he 131
6 1-E2BKFL(A 3T) he 131
7 1-EEBKFL(A 3T) he 131
8 1-E2BKFL(A 31) he 131
9 1-E2BKFL(A 31) he 2 Ht
10 1-E2BKFL(A 31) he 2 Ht
11 1-E2BKFL(A 31) N 131
12 1-EE3K¢1 (A 3T) INEE 131
13 1-EE3K¢1 (A 3T) INEE 131
14 1-EE3K¢1 (A 3T) INEE 33
15 1-EE3K¢L (A 3T) UtfeS 131




112 SRS — B IERR T B sk HU A B

A1 B R BE¢H FR HEAR
1 3-EEE (A M) ERx = 19t
2 3-EEE (A M) iy =2 = 19t
3 3-EEE (A M) Gl E3 he 2 3t
4 3-EEE (A M) ZI e likes 19t
5 3-EEE (A M) ERY Uik 2 3t
6 3-EEE (A M) By likes 2 3
7 3-EEE(A M) T like2 2 3
8 3-EEE(A M) MR Uik 2 3




112 SRS — B IERR T B sk HU A B

A1 LE=E Bt TR PR
1 4-EEE|(B 3T) 2T = 13t
2 4-EEE|(B 3T) =M1h = 13t
3 4-EEE|(B 3T) = 1 = 2
4 4-EEE|(B 3T) =g = 2 It
5 4-EEE|(B 3T) 2 B = 2
6 4-EEE|(B 3T) s E he 13t
7 4-2EE|(B 3T) MRS N 13
8 4-2EE|(B 3T) = T N 2
9 4-2EE|(B 3T) == N 33t
10 4-2EE|(B 3T) = e 13
11 4-2EE|(B 3T) 3 2 IS 13
12 4-5EE(B 1) =R UtfeS 191
13 4-5EE(B 1) =l UtfeS 2 3t
14 4-5EE(B 1) Mg UtfeS 2 3t
15 4-EEE (B 1) EYE UtfeS 2 3




112 SRS — B IERR T B sk HU A B

A1 LE=E BE¢H TR HEAR
1 5-PIEKFL(A 3T) = —F 131
2 5-PIEKFL(A 3T) T _F 2 Ht
3 5-PIEKFL(A 3T) _F 2 Ht
4 5-PIEKFL(A 3T) _F 33
5 5-PIEKFL(A 3T) _F 33
6 5-PIEKFL(A 3T) _F 33
7 5-PIEKFL(A 3T) _F 33
8 5-PIEKFL(A 3T) _F 33
9 5-PIEKFL(A 3T) = 131
10 5-PIEKFL(A 3T) = 2 Ht
11 5-PIEKFL(A 3T) = 2 Ht
12 5-PIEKFL(A BT) hi 131
13 5-PIEKFL(A BT) hi 131
14 5-PIEKFL(A BT) hi 2t
15 5-PIEKFL(A BT) hi 2t
16 5-PIEKFL(A BT) INEE 131
17 5-PIEKFL(A BT) INEE 131
18 5-PIEKFL(A BT) INEE 131
19 5-PIEKFL(A BT) INEE 2t
20 5-PIEKFL(A BT) INEE 33
21 5-PIEKFL(A BT) UtfeS 131
22 5-PIEKFL(A BT) UtfeS 2t
23 5-PIEKFL(A 31) UtEeS 2 Ht
24 5-PIEKFL(A 31) —fF 131




112 SRS — B IERR T B sk HU A B

A1 LE=E BE¢H TR HEAR
1 6-PIEK*L (B PT) By fEs —F 131
2 6-PIEK*L (B PT) == i —F 33
3 6-PIEK*L (B PT) Ml E _F 33
4 6-PIEK*L (B PT) = _F 33
5 6-PIEK*L (B PT) M&E _F 33
6 6-PIEK*L (B PT) FWE _F 33
7 6-P1EK*L (B PT) Z T = 131
8 6-P1EK*L (B PT) B 152 = 131
9 6-P1EK*L (B PT) 77 5% = 131
10 6-P1EK*L (B PT) iy B = 131
11 6-P1EK*L (B PT) = 2 Ht
12 6-PIBK+1(B 31) = 2 3
13 6-PIBK+1(B 31) = 2 3
14 6-PIBK+1(B 31) hi 131
15 6-PIBK+1 (B 31) hi 131
16 6-PIBK+1 (B 31) hi 2t
17 6-PIBK+1 (B 31) INEE 131
18 6-PIBK+1 (B 31) INEE 131
19 6-PIBK+1 (B 31) UtfeS 131
20 6-PIBK+1 (B 31) UtfeS 2t
21 6-PIBK+1 (B 31) UtfeS 2t




111 2SS

— R B B

A SI% BB BEHRE | FR | IR
1 5-B 4 (X SH#EFEDT) =% NE | L3
2 5B 24 (S EPED) M NE | L3
3 5-BH 24 (S EPED) Ey B NE | 13
4 5B 24 (S EPED) Y E NE | 23
5 5-BH 24 (S EPED) == heE | 13
6 5B 24 (S EPED) SR heE | 13
7 5-BI 24 (T S EPED) iy B heE | 13
8 5- Bl 24 (T S EPE D) 2 heE | 23
9 5- Bl 24 (T S EPE D) 75 = 1ht

A SR BB BEHRE | FHR | IR
1 6- B 44 (5 S ER L) i —F | 13
2 6- B 44 (5 S ER L) —F | 23
3 6-BU &4 (B EMIT) =l —F | 3
4 6- B 44 (H S ER L) = WA —F | 3
5 6-BIZE (S EMEIT) El= = 19t
6 6-BIZE (S EMEIT) = = 19t
7 6-BIZE (S EMET) # &5 = 2 i
8 6-BIZE (RS EMEIT) 2 = 19t
9 6-BIZE (RS EMEIT) Fl= = 19t
10 6-BIZE (RS EMEIT) Egs = 19t




112 SRS — B IERR T B sk HU A B

A1 B R BE¢H FR PR
1 7-#mE = 1ot 2| bR —F 19t
2 7-4RE =HE 3 1a7 —F 19t
3 7-#mE = 1ot =R —F 19t
4 7-#rE = 1ot = —F 19t
5 7-#mE = 1ot B3 94 _F 19t
6 7-#rE = 1ot =W _F 2 3
7 YR = M & _F 33t
8 YR = B3 B = 19t
9 YR = ZW®5 = 2 3

10 YR = il B = 33t
11 YR = =S Pic) like2 2 3
12 7-#rE =it = = = 21




112 2SS

— R B B

AR BB BE¢H Tk | PR
1 9-17#23E A1 (B 1) 2 | —&F | 11
2 9-17#S3EA9%1 (B 1) sy —&F | 24
3 9-17#23E A1 (B 1) I —F | 13
4 9-17#S3EA9%1 (B 1) Sl —F | 13
5 9-17#23E A1 (B 1) 5 7 —F | 13
6 9-17#S3EA9%1 (B 1) fR % —F | 13
7 9-17#S3E A1 (B 1) & —F | 23
8 9-17#S3E A1 (B 1) = W —F | 21
9 9-17#S3E A1 (B 1) W= —F | 31
10 9-17#S3E A1 (B 1) Z T = 19t
11 9-17#S3E A1 (B 1) B 152 = 19t
12 9-1732i5 841 (B D) == = 21
13 9-1732i5 841 (B D) # 5 = 21
14 9-1732i5 841 (B D) Z R M | 131
15 9-17394i5 841 (B BE) 2 1S e | 131
16 9-17394i5 841 (B BE) 22 E M | 131
17 9-17394i5 841 (B BE) e3P HeE | 231
18 9-17394i5 841 (B BE) &l X M | 231
19 9-17394i5 841 (B BE) &l 2 —F | 24

20 9-1739i5 841 (B BE) & —F | 13




112 SRS — B IERR T B sk HU A B

A1 BB TR HEAR
1 10-2085 1 = 19t
2 10-2085 1 = 19t
3 10-2085 1 = 2 3t
4 10-2085 1 = 2 3
5 10-2085 1 £ = 2 3t
6 10-2085 1 i) = 2 3
7 10-Zh8E¢t B = 2 3
8 10-Zh8E¢t % he 19t
9 10-Zh8E¢t he 19t
10 10-Zh8E¢t he 2 3
11 10-Zh8E¢t N 19t
12 10-20851 N 19t
13 10-20851 N 19t
14 10-20851 N 21
15 10-2085 L IS 19t
16 10-2085 L IS 21




112 SRS — B IERR T B sk HU A B

A 51T BB BEHR FR PE#R
1 15-ERERET Er Y —F 1hF
2 15-ERERET B 5 —F 23
3 15-ERERET =2 = —F 2 3
4 15-ERERET 2| Frr —F 23
5 15-ERERET ] B3 _F 2 3
6 15-ERERET = _F 391
7 15-ER &R = Ll _F 39t
8 15-ERERE = _F 39t
9 15-ERERE ZF T = 1ht
10 15-ERERE Al B = 1ht
11 15-ERERE == = 23
12 15-EREERET ES B = 231
13 15-EREERET =’ = 231
14 15-EREERET 2= = 231
15 15-EREERET = AN 1t
16 15-EREERET AN 231
17 15-EREERET fix Uik 1t
18 15-EREERET iz Uik 1t
19 15-EREERET £ Uik 1t
20 15-EREERET f& Uik 1t




112 SRS — B IERR T B sk HU A B

AR tERE | BEER FR PR
1 TEX BT 2N = 19t
2 TEX BT 5 = 19t
3 TEX BT % = 19t
4 TEX BT =% = 2 3t
5 TEX BT % = 19t
6 TEX BT =% = 2 3t
7 TEX BT hi 2 3
8 TEX BT N 2 3
9 TEX BT N 33t
10 TEX BT like2 19t
11 TEX BT like2 19t
12 TEX 3T ik 19t
13 TEX 3T ik 21
14 TEX 3T = 21
15 TEX BT = 21
16 TEX BT = 19t
17 TEX BT N 21




112 SRS — B IERR T B sk HU A B

A 51T BB BEHR FR PR
1 R AL Z T = 13
2 PREZ AL & A = 13
3 PREZ AL = = 13
4 PREZ AL R~ = 13
5 PREZ AL 5 = 13
6 PREZ AL T = 23
7 RIS AL =) E2 = 23
8 PRAAL 7y 127 = 23
9 PRAAL R = 23
10 PR3 AL ElE= = 23
11 PRAAL E [E3 hi 13
12 B ER3A AL == hi 13
13 BRARZAAL % W N 23t
14 BRARZAAL 2 WX ik 13
15 B R 2t =) [ Uik 231




112 SRS — B IERR T B sk HU A B

A 51T BB BEHR FR PR
1 3 EEEE = —F 1t
2 AR B R E DT 7 Ell —F 1t
3 B el R T —F 1t
4 AR B R E DT Gy B3 —F 23
5 B el X _F 1t
6 AR B R E DT RS _F 1t
7 AR B HREE DT Sl _F 1t
8 AR B IR EE DT =S lR _F 23
9 AR B IR EE DT e ES _F 23
10 BT 77 & _fF 2 31
11 AR B IR EE DT fR _F 23
12 B LT 2= T 23t
13 B LT 73 ) T 31
14 B LT = A T 31
15 R (2 FLEE DT HFPE _F 31




